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[] Subtraction Speed Test
[ ] Lesson 10-4 The Pythagorean Theorem

Thursday, April 16
[ ] Multiplication Speed Test
[ ] Lesson 10-4 The Pythagorean Theorem

Friday, April 17

[ ] Division Speed Test
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Monday, April 13

This week, we will begin covering new material. This will require some determined effort on your part.
You will need to read the lesson yourself, try the examples on your own, and then contact me by email if
you do not understand the new concept.

1. Your speed test for the day will be the powers speed test. As you did the last two weeks, time
yourself, and write the time it took you to complete the entire test at the top of the page. After you
have finished the test, use the answer key to check for accuracy. Write your score at the top of the
page.

2. Read lesson 10-1, Square Roots, on page 356. Work the Class Exercises on page 356-357, #1-15,
all.

Please do not look at your answer key until you have worked every problem!
Tuesday, April 14

1. Your speed test for today will be the roots speed test. This is the hardest test, but this is the
subject that we’re covering right now. You only have to do the first column of the test. We are
just covering square roots, so you don’t need to do the cubic roots, fourth roots, or fifth roots!
(However, if you want to try...please do!) You might not get many of them right. That is OK!

2. Review lesson 10-1. If you would like some more help, you can go here:

https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/

v/introduction-to-square-roots?modal=1

And here:

https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/

v/understanding-square-roots?modal=1

Your actual assignment for today is HW 10-1, pg. 357, Written Exercises, #2-32, evens.

Wednesday, April 15

1. Your speed test for today will be subtraction.

2. Read lesson 10-4 on pages 364-365. This is a very important concept, so read it slowly and
carefully! Try working the examples as you read through the lesson. Go back and re-read the
lesson again. Then work the Class Exercises, all of them, on page 365.


https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/v/introduction-to-square-roots?modal=1
https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/v/introduction-to-square-roots?modal=1
https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/v/understanding-square-roots?modal=1
https://www.khanacademy.org/math/pre-algebra/pre-algebra-exponents-radicals/pre-algebra-square-roots/v/understanding-square-roots?modal=1

Thursday, April 16

1. Your speed test for today will be multiplication.
2. Re-read lesson 10-4. If you need more help, you can go here:

https://www.khanacademy.org/math/basic-geo/basic-geometry-pythagorean-theorem/geo-pythagorean-the

orem/v/the-pythagorean-theorem

Your assignment for today is HW 10.4, Written Exercises, page 366, #2-18, evens, #22, 24. Don’t
forget that you can use the square root table on page 528 of your textbook to help solve #14-18.

Friday, April 17

1. Your speed test for today will be division.

2. Re-read lesson 10-4. Go back to the link above if you need more help. Your homework
assignment for today is HW 10-4, Problems, pages 366-368, #1-6, all. You may use a calculator
to find square roots that are not on the table on page 528.


https://www.khanacademy.org/math/basic-geo/basic-geometry-pythagorean-theorem/geo-pythagorean-theorem/v/the-pythagorean-theorem
https://www.khanacademy.org/math/basic-geo/basic-geometry-pythagorean-theorem/geo-pythagorean-theorem/v/the-pythagorean-theorem
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